MESHAIETAIEL

= =
L 06763 ALA AxTF $HEE 15H% / A3} (02)3462-7213 ~ 4 /| A4 3462-7210
A FA - BEFAEAIG I (EAT), B HEH, 99 0 159
FANS: EAAEAGY -
A3 A=} 2016, 5.
S 1A A
2} =z -
= -
A FAAEYgERL
A d A A A
T A} 9 N5 2016.5.16.
APs: E-89 (N0. ) AlEAFHATA: Z|EAAA: A LA 72 £
A BEEF: Z(HESR) Al o) g 1A Al 2 A5
NEH5Ld: 2016.5.4. Alg AFA AlZAHY:
24 % Density 2.910 g/a 2AAF P.1 NP A g1 0.M.C 12.3 (%)
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2! = 1 2.910
(A E+E=)FA(g) 1 | 10451.7 I 2 | 10579.6 ' 3 | 10716.8
I I
RAEeAZFA(g) 4484.6 i 4612.5 i 4749.7
AOWE Y t(g/cr) 2.032 i 2.090 i 2.153
WW: | 1256.3|DW: lWw: | 1295.3|DW: W : 1334.6/DV: |
DW: | 1196.7|TW: | 179.8/DW: | 1215.7|TW: |  209.1[DW: 1239.1|TW: | 206.4;
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WW: | 1473.3|DW: lyw: | 1393.5|DW: W : 1384.7|DV: |
DW: | 1401.8|TW: | 180.0 [DW: | 1306.2|TW:| 187.9|DW: 1281.2|TW: | 206.2|
W 71.5Ws:  1221.8)lv: 87.3Ws:  1118.3[Ww: 103.5 Ws: 1075
W: 5.9 W: 7.8 W: 9.6!
I
B gl Wi%) 5.9 i 7.9 i 9.4
Az = Yd(g/ar) 1.919 i 1.937 i 1.968
d 57 35 A | |
Az H =(g/em) - __2'_4%1 ______ _i.__ __2;3?6 _______ i___ __2'_2?5 ________
(N Z4+E=) T (g) 4 10789.0[ L5 ] 10856.0 ! ] 10841.4
A2 A 7FA () 4821.9 i 4888.9 i 4874.3
AT Yt (g/en) 2.185 | 2.216 | 2.209
WW: | 1358.1|DW: lyw: | 1389.1|DW: W : 1321.7/DV:
DW: | 1240.5| 204| 197.8|DW: | 1258.5/TW: |  205.4[DW: 1167.1|1W: 180.6
Ww:  117.6Ws:  1042.7Ww: 130.6 Ws:  1053.1|Ww: 154.6 Ws:  986.5
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g 4 " 5 A !
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Ww:  120.7 Ws:  1047.1[Ww: 136.1 Ws:  1096.1|Ww: 148.6 Ws:  1094.7
W: 11.5) W: 12.4 W: 13.6)
B 1] W(%) 11.4 i 12.4 i 14.7
A2 % Yd(g/an) 1.962 | 1.971 | 1.926
9 37 =5 g
52w e e 2.185 2.138 2.038
H] Il




2.600
2.590
2.580
2.570
2.560
2.550
2.540
2.530
2.520
2.510
2.500
2.490
2.480
2.470
2.460
2.450
2.440
2.430
2.420
2.410 N\
2.400
2.390
2.380 N
2.370
2.360
2.350
2.340
2.330 \
2.320
2.310

2.290

N
w
o
o

N
N
o)
o

.270
.260

N N
O
[e)e)

HIong By oy

230
220
210

N
o
(@)

.190
.180
170
.160
.150
.140
.130
120
110
.100
.090
.080
.070
.060
.050
.040
.030
.020
.010
.000 = .

.990 ‘
.980 }

960 — O.M.C=12.3
1950
1940 1t

.920 T \
910 H‘ i

.900 ~ ‘

4.0 5.0 6.0 7.0 8.0 9.0 10.0 11.0 12.0 13.0 140 150 16.0 17.0 18.0

vl
=
]
kA

o
H1
I
©
N
N




b~

59~

2016.5.10.

A

94 AgH
71:1[

A

]
=

oV R RH

k53

=1
PN
=

1

o A
o 7|
o A

)

2309:2004

9
E

3
F
S

| -
W 22 e
jof ER ojr
R O K
TR R B
CACACS
O 0 O

B-C

X 100

15.8%

=25 (g) 0.08mmA & 2= (%

396.0

o] AxFA(g)

559, 0

3663.1

2107.5

2503.5




9 2= AE

H & E-89
o Al & WM KS F 2308:2006
= 5 Z(HES)

o 71 HeH 7 SE

oA @ A Asd

= % Ll kel 1 2 H] 3L
v & H 9 H 3 24 31
H o % Wt (g) 79.242 81.715
H W + /75 Wai (g) 327.272|  328.797
Waig @3S wo] == Ti(TC) 19.7 19.7
2= x(O) d v B9 9% @
Sw Ti(C) o W Zo] Wi 0.999940| 0.999940
Wai - Wf (g) ® 248.030|  247.082
Aol &% (Tx)ol digt I A %-v]H
=
fmol e Wax (g) = @ x 327.257|  328.782
2.9 F A F
Hl =4 CAZA R o ok
150 + =28+ =] T 343.260 | 345.830
Wh(g)
s SA4T o] JaxmHe
Y82 & Tx(T) A0 A
xR AR T Wo (g) 25.175 25.218
T(C)Y wo Wo
59 HlF = 2.745 3.087
(TC / TC) Wo + (Wax - Wh)

2L tgt 5o W (g/cn) 0.99820[  0.99820

E 9 9 Z=(g/cr) 2.740 3.081
g 4 # 2.910 (g/cxt)
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35 A HMets(2F)(mm)| 75 53 37.5 26.5 19 9.5 4.75 2 0.85 | 0.425 | 0.25 0.106 0.075

(%) | 100.0 [ 100.0 | 100.0 | 97.9 | 91.4 | 80.0 [ 73.4 | 66.5 57.3 43.5 | 32.6 17.2 14.7

=
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O AIFWMIET 1 E-89 o Al@ddar  12016.5.
o AW KS F 2302:2002 o N&AAR B
ANAEE L S(HER) o A ¥ A A=
: NO.10HIOI e AIRE 22 4D
X 29 ZI|HE=R
BUAZEL SI1AZ2AW) CHEAZ AZ2HW)
N
= H (HHBIATAR+BI]) 3565.3 g (W22 H 1.479.1 g
27129 562.4 g 2212 562.4 g
HHAIRS ZOHESHM) | 3002.9 g W1 916.7 g
1. 2mE SDHARO S4H 5F
NO 1 NO 2
i 1003.3 o 1012.8
Dw 929.9 Tw 179.7  Ow 938.0  Tw 179.3
W 73.4 s 750.2 W 74.8 W 758.7
W= 9.8% W= 9.9%
BREAH 9.8%
2. HHAZAZLH W) = W/ (14w 2734.3
3. 2mXl SIHAZAIRZSH (W)= Wo=Wo-1i1 1817.6 g 1817.6
4. P2.0(RF2.0mOIA S JHE S )= W2/Wo 66.5% 49.6%
5. X0l S Ao s
e 1 2 1 2=1/W0
= = = g2Alzt g2Ag oo b A s
Mo BEE 8IRH | ghene| eaw | FFER | xzs | ws
75.0m | 1 | 43710 | 437.10 0.00| 0.0% | 0.0% | 100.0%
53.00 | 2 | 461.90 | 461.90 0.00| 0.0% | 0.0% | 100.0%
37.5mn | 3 | 471.60 |  471.60 0.00| 0.0% | 0.0% | 100.0%
26.5mn | 4 | 469.50 | 527.70 | 58.20 | 2.1% | 2.1% | 97.9%
f9.0nm | 5 | 456.80 | 633.30 | 176.50 | 6.5% | 8.6% | 91.4%
9.5mn | 6 | 489.70 | 803.20 | 313.50 | 11.5% | 20.0% | 80.0%
475mn | 7 | 52400 | 702.20 | 178.20 | 6.5% | 26.6% | 73.4%
pom | 8 | 448.90 | 639.20| 190.30 | 7.0% | 33.5% | 66.5%
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o AlFWH 1 KS F 2302:2002 o NEAYA} : FHBH 2 LU

O NFEE I Z(HESR) oA & A FSE

(BIAZANZHEI) 2 - 692.20 g So/g==tl(w) : 8.8%

ZI12 : 577.00 g £99% (Gs) : 2.910

SIHAZAZ A W : 115.20 g 28X (PIl) : N.P FAHA TAHLEEE 10,2159
AZAZ2H 0 Ws=100W; /(100+w) : 115.09 g

P2.0(YZ2.0mmOIlMS JIESUHE: 66.5%
1. BIHAZAFL &=H S (XA ESHI)

NO : 1 NO @ 2 NO : 3
WW = 1257.7 Ww = 1271.5 WW =
oW = 1172.0 Tw = 176.5 oW = 1180.7 Tw = 177.9 oW = Tw =
Ww = 85.7 Ws = 995.5 Ww = 90 8 Ws = 1002.8 Ww = Ws =
W= 8.6% W= 9.1% W=
Yogtl o 8.8%
2. UISH ANE
== 1o | ZAIZE HISHSAS Z 2 Z0(mm) o2 = AD N | meo| 2
14:11 1 0.0210f 0.0210 128.8 128.8 11.3473 0.0037 0.0423 25 0.0020f 0.0230 30.4% 15.7%
14:12 2 0.0180f 0.0180 134 .6 67.3 8.2026 0.0037 0.0306 25 0.0020] 0.0200 26.4% 13.7%
14:15 5 0.0140{ 0.0140 142.3 28.5 5.3348 0.0037 0.0199 25 0.0020f 0.0160 21.1% 11.1%
14:25 15 0.0115f 0.0115 147 .1 9.8 3.1320 0.0037 0.0117 25 0.0020] 0.0135 17.8% 9.4%
14:40 30 0.0100f 0.0100 150.0 5.0 2.2364 0.0037 0.0083 25 0.0020f 0.0120 15.9% 8.5%
15:10 60 0.0090f 0.0090 152.0 2.5 1.5915 0.0037 0.0059 25 0.0020] 0.0110 14 .5% 7.8%
18:10 240 0.0080f 0.0080 153.9 0.6 0.8008 0.0037 0.0030 25 0.0020f 0.0100 13.2% 7.2%
14:10 1440 0.0070f 0.0070 155.8 0.1 0.3290 0.0037 0.0012 25 0.0020] 0.0090 11.9% 6.5%
HUAHAC BF (Cm) : 0.0009 [1:2H 250 ZO0IA =241.0007HXl 220l (m) 107.59
Ws/V (g/cm) : SEH 1M G AXAIZ 2 12: 98 220 AZUA =23 1.0507HX 2 L0l () 10.87
Lb : X FE2 20/ (mm) 136.84
1/(Ws/V)= 8.69 cm/g Gs/(Gs-0.99678) *rw 1.521 g/or Vb 1 BE 29| L£1j(or) 57.50
A HIAARIHO SHEHA (o) 58.84
3. MotE
Ao 1 2 3=2-1 4=3/Ws 5 6 7=6*P2.0
- = =H2A2+ | H2A =
H SIS [8II2RH] o5 o o MRE NENRE IIEENs (BEEIIIE Sis
0.85mm(N0.20) 1 437.3 453.1 15.80 13.7% 13.7% 86.3% 57.3%
0.425mm(N0.40) 2 369.7 393.6 23.90 20.8% 34.5% 65.5% 43.5%
0.25mm(N0.60) 3 380.0 399.0 19.00 16.5% 51.0% 49.0% 32.6%
0.106mm(NO. 140) 4 345.1 371.8 26.70 23.2% 74.2% 25.8% 17.2%
0.075mm(NO.200) 5 351.3 355.5 4.20 3.6% 77.8% 22.2% 14.7%
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Z5 NAEE] (oAl (e AN wwA] Botr [2Ea a0l |sred | 540
A lzews| ™ A @ | @ | @ | @a) | @ | @ea | @
T (g)
3X17 40 8923.4 | 4670.8| 4252.6| 2199.21] 1.934 | 12.3| 1.722] 10
3X42 41 9162.8 | 4661.6| 4501.2| 2211.58] 2.035 | 12.3| 1.812] 15
3X92 42 9331.9 | 4678.4| 4653.5| 2211.20| 2.104 | 12.3| 1.874| 22
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AleHby 0 KS F 2320:2000 o 7|=AA} - HeA 2 LY
NEES : syeg A g A gse

7] 01 2k

T8 J‘%(m‘fn;’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
fkg 5 0 19.0 39.0 61.0 sa.0| 108.0] 120.0 168.0 205.0] 270.0| 321.0
=] == ]_]:

0 |FrEEEl 1.0 2.0 3.1 4.3 5.5 6.6 8.6 10.4 13.8 16.4
(kg f/
=] == ]_]:
?Mﬁ/ﬁ;; 0 0.095| 0.195| 0.305| 0.419] 0.539| 0.644] 0.830| 1.024| 1.348] 1.603
fkg 5 0 22.0 42.0 65.0 or.0] 120.0 152.0 221.0 301.0] 468.0| 612.0
=] == ]_]:

41 |TrEEEl 1.1 9.1 3.3 4.6 6.1 7.7 11.3 15.3 93.8 31.2
(kg f/
=] == ]—T:_
"(M“Ij;‘;n; 0 o.110] 0.210] 0.325| 0.454] 0.509] 0.759| 1.104] 1.503| 2.337]  3.056
fkg 5 0 29.0 62.0 99.0] 142.0] 187.0 235.0| 336.0| 458.0 759.0| 1040.0
=] == ]—T:_

g2 |TrEEEL 1.5 3.9 5.0 7.9 9.5 12.0 17.1 93.3 38.7 53.0
(kg f/
=] == ]—T:_
"(M“Ij;‘;n; 0 0.145  0.310] 0.404] 0.709] 0.934| 1.174] 1.678] 2.2871 3.790|  5.193
17 3 (2.5m) gg <100 = 7.8% 5. Omm 110-03 <100 = 9.9%
42 3 (2.5m) gg <100 = 8.7% 5. Omm 110-53 <100 =  14.6%
92 3 (2.5m) gg <100 = 13.5% 5. Omm 120-33 <100 =  92.9%
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